\ﬂ |
Proj. studnia kablowa b KONIEC OnL»OO<<>z_>
SKR-1 km 0+999,00 N ~__ KO: KM 0+999,00
i w KO: KM 0+999,00
i x=7 458 808,95
_ y=5710 138,76
_
i
_
__
i
_
i
i
_
m
_
Blhaq d
ﬁ > ¢
__
_ O
ASd L
!
I
_
m
_
_
i
-7 _
-7 _ I
=T @ et
-7 I
I
_
| 5
e _ 2
1I
N
_ gl
i N
e COH g
7 _ N //
- \\\ _ ///
7 _ N
\\ _ //
.7 g | N
7 &1 N
- 2
.~ I3 S
e 7 _ m Ny N
: < B
|
g N
_
_
_
_
ks _ %L
8
RN
_
_
i
7u _
i
< i
994 ] | §
= W i S 719
062015 _
_
i
_
i
i
_
_
i
_
i
L _
g
=S
i
o)
_
_ Z2 KM 0+838,60
“ X=7 458 841,00
i y=5 710 281,10
_ /.=0,225150°
i
_
_
_
¢994 \%\\ “ m 719
_
_
_
i
_
_
8
Proj. studnia kablowa | {4
SKR-1km 0+799,50 | T4
i
i
_
i
i
_
i
_
_
i
_
i 2
B _
_
_
J »
¢99f mWa “ o ¥19
_ <
ks
& Nm N
A
Fol
_
i
_
_
i
_
_
i
_
_
i
_
“ oAlY
_
_
_
Ly
Al m % J
_
_
_
g I g
N _ N
“ gL9F
_
i
=)
]
|~
799 s
e .
i
_
_ b
_
_
i
_
“““““““ & I,
35
b | b
i
| B
L9} _
_ A
V _ 919¢ ,ﬂ
o9V | " 3
i R
f i Kt R=6132m ’ 190
_ KM 0+664,55
_ g
b G#ﬁw
|
TTR(E L
719 B F Y
|
b ‘
= 67f
f -
a9 __ L9
__ m&m— . \“\\\
-
N \\\\\\\awhmwov | —
) \\\\\\)\\nc: \\\N%\
\\\\ X .nW\»\ \\\\
N
= g\\\\\
\\\ »
W2
] x=T A58 238,84
1 y=5710 480,74
_m S
-o
2
7 m : 7
Proj. studnia kablowa | | ; oAl 7
SKR-Tkm0+5985 | 1 -
R=6132 m | 7 -
T=40,00m | : | 5
£=80,00 m 7 ’ 7
=0,31 m 3 ;
99 7 W j
DA | | PLR=6132m
: f, KM 0+584,55
1 jw
S (A
| |
i
N
[l
7 _ S q +
-99¢ _ M P -g9f
[ — kﬁ _ KER=451 A
| | KM 0+564,09
,
e
5694
VA

' I
% o
m 4
<
= «
i=) $
s . Q
Egl |2
< o 8
an o S | o
S22 8%|% )

- — Q oid
52| || | &

5 . (]
I
85| |[s2]® | =

Qo ~ <
S <
g g g | Z
‘58 | S
[=) m o = (@]
S ] = 14

< =
28 g |§ |3

g 9 [e) o o)
23| g o
S| & 2 Q

1 o m 0]

[ o >=
£ 8|58 ¥ |2 m
3B g gl & m 19
2 Blos © |8 i
b..m s 5 |a =
Q g8 5 (8 3
N = €9 £ |Bg x
A M|oS E2| a

w e

3 R-RE

b+ 2

s ¢ |63

= i o

a |8 |2 |Eg|S

[2] i) K = c [2]

E |2 |2 |88 |§

2 £ a LN

\\\
~
-
\\\\
- —
\\\\ \\\\
\\ \\\
\\\
\\\\\
~
\\




